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1.  The term Mesophytes im ‘
(A) Aquatic plants growing
marine waters in soils

ing

(B) These are plants grow e

with optimum solil water c:gdy‘g:r
prevailing for major part of t

r
(C) Plants growing in extreme weathe
conditions
(D) Under water growing plants

{
plies tha
n fresh and

2. Who among the following leaders moved
“Objective Resolution” in the Constitutional
Assembly ?

(A) Jawaharial Nehru
(B) Dr. B. R. Ambedkar
(C) Dr. Rajendra Prasad
(D) Vallabh Bhai Patel

3. The war of Kurukshetra was narrated to
Dhritarashtra by
(A) Shankaracharya
(B) Madhvacharya
(C) Sanjay
(D) Vallabhacharya

4. If2is a zero of polynomial

f(x) = ax* - 3(a - 1) x = 1, then value
ofals

® %
(B -%

© ~%
(D) None of these

5. 5000 years old Indus valley civilization,
found in the present day

(A) Ranchi (B) Hisar |
(C) Kurukshetra (D) Angeerasa

s District:
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(K) STt
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6. Anobject4cm i

10.

n size, is placed

in , ced at 20 cm

10'?:\' %a concaye mirror of focal length
. what distance from the mirror

should a screen be
lac
a sharp image ? placed in order to obtain

(‘B\) 20 cm from the mirror
(B) 10 cm from the mirror

(C) %Qcm from the mirror
o) 2

3 cm from the mirror

Find the word which Is different from
‘ th
other 3 options given below. 5

(A) Mathematics (B) Arithmetic
(C) Algebra (D) Geometry

ISRO's first woman scientist who recently
spent over 403 days in Antarctica is

(A) Tessy Thomas
(B) Mangala Mani
(C) Nandini Harinath
(D) Anuradha T. K.

New States come to exist through union,

consolidation, confederation etc. Here

confederation refers to

(A) Form of Union where Centre is strong
and States are weak

(B) Formof Union where States are strong
and Centre is weak

(C) Some States have strong power and
Centre is also strong

(D) Equal power sharing between Centre
and States

Find the number which is not like the other
3 numbers.

(A 14 ® 3
© 2 ©) 1o

HEVIO ) \WiNT)

(A) mﬁa 20 |, |,

(B Z&Wﬁ 10%.ﬁ-
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11. The values of x and y satisfying the
X_Y_4 are
eﬂuatlonz(-a’i)-»%:z and; b
(A) x=a,y=b
(B) x=2a, y=-2b
(C) x=a,y=-b

(D) x=2a,y=2b

12.  Skill of archery was the test in the
swayamvara of

(A) Parvati
(B) Gouri
(C) Meenakshi
(D) Draupadi

13. The device which converts sound 1o
electrical vibrations
(A) Speaker
(B) Microphone
(C) Integrated Circuit (IC)
(D) Stereoscope

14. During the debate on citizenship in the
Constitution Assembly, a famous quote,
“There cannot be any divided loyalty”, is
said by

(A) B.N. Rao

(B) Somnath Lahiri

(C) Govind Vallabh Pant
(D) None of the above

15. Findthe missing letters (?) from the options
for DW, 2., Lo, PK, TG, XC.
(A) FU
(B) EV
(C) HS
(D) IR

11.

12.

13.

14,

15.

Ericou 2(x)+%=23m g-%“‘ﬁé@

a

FH A x Ay F AR B
(A) x=a,y=b

(B) x=2a,y=-2b
(C) x=a,y==b

(D) x=2a,y=2b
diars #1 Frere
giien 4t |

(A) g

(8) i

(C) Hirah

(0) 7t
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) IR



16. Which of the followi
about ng statements is wrong

17.

18.

19.

Deccan Plateay 7
(AY" This is bordered by the Western Ghats
In the west, Eastern Ghats in the east
and the Satpura, Maikal range and
Mahadeo hills in the north
Its western hills locally known by
different names such as Sahyadri in
Maharashtra, Nilgiri hills in Karnataka
and Anaimalai hills in Tamil Nady and
Cardamom hills in Kerala
Anaimudi, the highest peak of
Peninsular plateau is located on the
Anaimalai hills
The Eastern and the Western Ghats
meel each other at the Shabarimala
hills

(B)

()

(D)

Mahabharata war was fought during
(A) 900 BC (B) 800BC
(C) 700BC (D) 600BC

The potential difference between 2 pointsin
a current carrying conductor when 1 joule of
work is done to move a charge of 1 coulomb
from one point to the other

(A) 1 ampere (B) 1 volt

(C) 1 newton (D) 1ohm

In order to improve the condition of children,
has been implemented in Haryana.

(A) Integrated Child Development
Project

(B) Innovational Child Development Plan

(C) Indian Child Development Plan

(D) International Child Development

Project
Solutions of the equation
V3x% +11x+6J3 =0 are
(A) V2,6 (B) 52:- 3/3

() 3?\/5 (D) ‘7@.-\/6

16.

17.

18.

19.

20.
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21. During 118 Su covered Wh2 Fompire
' Pdncegas':,'fm gritish Ind
land &

(A) One

(8) One-fourt”

(€) Onetenth
(D) None of the

22,

(C) 36 ]
23.  Which of the following form an AP

(A) 1,1,2,233, .

(B) 0.3,0.33, 0333, ...

(C) V2.22V2,4,..
(D) 3,3+ J§.3+2J§.3+3J§ ......

24. According to Haryana Municiple Amendment
Act, any male member contesting urban local
bodies election, must possess
as minimum education.

(A) MBBS

(B) LLB.

(C) 12"Standard
(D) Matriculation

25. Which of the following statement/s is/are

true regarding 97" Amendment of the
Constitution '9

(A) It made the right to form Self Help
Group as a Fundamental Right

(B) Ithasbrought a new provision into the
Part IV of the Constitution (Directi
Principle of State Policy) PO

(C) Both are wrong
(D) Both are right

26. Musta!ab_adisrenamedas
(A) Brahmavar
(B) Saraswati Nagar
(C) Kisan Nagar
(D) Aryabhatta

Z0.

22,

23.

24,

25.

26.
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(A) U= faerd

(B) U Hyrd

(C) Zgal ¥ym

(D) 3% H A %1 48

A ‘GIVE' 1 %2 43 R, @ TAKE' ;1 3
&

(A) 47 (B) 27
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27. Findthe missing number (?) in the sequence

28.

30.

31.

511,23, 7,95, 191,
(A) 47
(C) 49

(B) 48
(D) 50

Aquifer mapping done to assess
(A) Ground water situation

(B) State legal situation

(C) Position of women in the State
(D) Animal census

Consider the following statements and
choose the incorrect regarding Meghalaya
plateau.

(A) It is further sub-divided into Garo Hills,
Khasi Hills, Jaintia Hills
(B)

Plateau stand detached from the main
Peninsular Block
(C)

Itis also rich in mineral resources like
coal, iron ore, sillimanite, limestone
and uranium

This area receives maximum rainfall
from the north-east monsoon

(D)

The first Haryanavi movie is
(A) Rijuvi (B) Dharti
(C) Yajurveda (D) Osho

Arrange the following structures of the
atmosphere from the surface of the Earth.
(A) Troposphere — mesosphere —
stratosphere —thermosphere
Troposphere —stratosphere —
mesosphere — thermosphere
Stratosphere — troposphere =
mesosphere — thermosphere
Stratosphere — mesosphere =

(B)

(C)

(D)

troposphere — thermosphere

28.

29.
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27. 7@ 5, 11,23, 2, 95, 191 ¥ g W (2)
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32. Joginder Singh is a litterateur ,
(A) Jalsa (8) Shahaba

(C) Panipat (0} yAmpbei

X +
. uations x — 2y = 3 and
2 :L:Jhr::gm the same line, then the va

by = 6
jue of

bis 2l

(A) 4 -

(C) -2 (D) None of theseé
34. Balmuﬁund Guptaisa literator

of Haryana.

(A) Sanskrit (B) English

(C) Urdu (D) Hindi

35. In AABC, AB = 63 cm, AC = 12 cm and

BC = 6 cm, then |B is

(A) 120° (B) 60°

(C) 90° (D) 45°

The sum of digits of two digit number is 9.
Also, nine times this number is twice the

number obtained by reversing the order
of the digits of the number. Then the

36.

number is
(A) 18 (B) 81
(C) 36 (D) None of these

37. RBI was set up on the basis of the
recommendation of

(A) Indian Central Bank Enqui
Committee -

(B) Royal Commission
(C) Simon Commission
(D) Nehry Report

—

32.

33.

34.

35.

36.

37.

38.

39.
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AABC # AB = 6J3 &.H1., AC = 12 &1
dMBC=6 @M. 2, 7 B2

(A) 120° (BY” 80°

(C) 90° (D) 45°

qaaﬁaiaﬁﬁé@r%aiﬁ'ﬂﬁmgém
mmgwmd@r%ﬁﬁa‘rmﬁ
- %mm#@m%zm%naﬁm
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~ connecting link betwe lIs serve as a

H

(€ 2\a? +b?

42.

which of the followin

en Hlma|ayas and

(A) Tipra Hills
(8) Momi Hills
(C) Aravali Hills
(D) Ambala Hilis
The distance between the
(-a,—Db)are
(A) O

(B) 1
(D) None of these

The main presence of Aravali Hills is found
in the District of

(A) Faridabad (B) Rohtak

(C) Gurgaon (D) Hisar

The ‘Champions of the Earth' Award is
presented by

(A) UNDP

(B) UNFCCC

(C) UNEP

(D) UN General Assembly

Panchayat Raj Act came into existence
pursuant to Constitutional

Amendment Act.
(A) 71*
(C) 73¢

Ms. X moves 20 metresinth
and then turns to her |eft and walk:
15 metres and then turns to her right ar:
moves 25 metres. After this, she tum:o 3
her right and moves 15 metres. I;IOW.

far is she from the starting point

(B) 72"
(D) 74"

e East direction

S
@ omeies O L
(C) 45 metres (D) None©

does not react with dilute
HCI.
(AY Ma ,(B) C}’

—
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40. Freferfaa d & - Teifeal femer aiw

41.

42.

45.

46.

faH F A A= § 7
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() e gt
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(©) 2va?+b? (D) ¥ | #ré A€
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(A) reTEm (B) TeEaH

(C) TeNE (D) fEm
‘IfopE AEe Y R FW
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(Ay” UNDP

(B) UNFCCC

(C) UNEP

(D) TIF T HETEMT
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g=TaE U9 Atuan sfee § s

(A) 71 @y 72

(C) 73 ~ (D) 74

g, X i fewm # 20 diet T € o T
7 AT weeht £ si 15 e wer & ofv fiw

A7 2 qEa 25 Hiet T &) T s

i 15 Hizt Ferdl &1 7@, T8 Afumw

fizu et g 7

(*{351ﬂ21 (B) 40 HiX
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@9 HCI o Ty siufean 78

F |

™ Mg (8) Cu
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47. | sec9=74.7.  then value of

‘[manze-cosecze i

2cos?0-cot? 0
(A) 20 (B) 0
© 4 (D) None of these

48. If 15" of August was Wednesday, then
1* August of the same year was -
(A) Thursday (B) Wednesoay

(C) Friday (D) Saturday

49. During the freedom movement, who
among the following revolutionary tumed
into a philosopher ?

(A) Rash Bihari Ghosh
(B) Aurabindo Ghosh
(C) V.D. Savarkar

(D) Satyendranath Bose

50. Whoamongthe following has been Speaker
of Haryana Vidhan Sabha for maximum
number of times ?

(A) Kuldeep Sharma

(B) Harmahendra Singh Chadda
(C) Satbeer Singh

(D) Ashok Kumar Arora

51, Completetheanalogy.
Trigonometry : Mathematics - 2 -9
(A) Botany '
(B) Chemistry

(C) Biology

(D) Bio-Chemistry

The High Court has the jyrie:
Atticle 226 for the emoro'emd::'fgfﬂ under

(A) Civil Rights
(B) Sanctioning Rights
(C) Fundamental Righyg
(D) Child Rights

52.

47.

49.

50.

51.

52.

4 2tan® 0 - Cosec,

a2 seco=— 3 20087 0 coty.

FIUH &

(A) =3
(D) ¥4 8 Fri 3y

(C) 4
af2 15307 F) FUAR 41, 1 I T 1 30y,

F1 91
() FuaR

(A) T&¥ER
(C) AT (D) HifFER

a1 AEC & IR fEtataa § 824
Fifaserl § Sif4eF &= a7 ?

(A) TH faEer

(B) 3ifdz ury

(C) 1. El. grEE

(D) HH=ZA1Y 914

Frefefaa 3 & %1 watfve am st fas
N F R BGHR ?

(A) Ferd s

(B) ez fie =g

(C) waeR faw

(D) 3T9IT FHI axirey
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S
of the circle inser:

ﬂbed
2 SQUare of
() @ cm? a
ra” cm? ® 4 L
(C) 4 (D) n\aszz
Aw B are ffiends a 3 <

; nd
than A.A's father p js N?icl;séz
Bis twice as his sigter o aS 0ld a5

C differ by 40 years Th “Dand
. are respectively e ages of Aand'g
- (A) 26yrs., 24 yrg (B)
‘ : 25 yrs., 23

w23 yrs.
(C) 30yrs. 28yrs. (p None of theyse
ich of the f ing i

[v;hnnone ; Ollowing is a plant

(A) Insulin (B) Oestrogen

(C) Cytokinin (D) Testosterone

Damdama lake is situated in the District of
(A) Faridabad (B) Gurgaon
(C) Rohtak (D) Hisar

If ‘+' means ‘+', '+' means ‘=, '~ means ‘<’
and 'x' means '+, then9 +3+5-3x7=
(A) =5 (B) 15

(C) 25 (D) None of these

The lake which is dedicated to Sun God is
(A) Damodara lake (B) Anangpurlake
(C) Hathnikund (D) Surajkund

The force that blood exerts against the wall

of a vessel is called
(A) Diastolic pressure
(B) Hemodialysis

(C) Systolic pressure
(D) Blood pressure

Asbestos is found in t

1 AN

he District Of
gy Gurgaon
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